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SECTION A — (10 x 3 = 30 marks)
Answer ALL questions.
All questions carry equal marks.

1. (a) Write the standard form of a linear
programming problem.

CrrCam(h Oewed L sawsdear  srwomer
SjenLidlener eT(Lpgis.

(b) What are the slack and surplus variables?
Qgmie wHmD 2 Lifl wrdlger eremmmed eTeme?

(¢) Define the optimal solution to a
transportation problem.

CuUTEGUTSE SsaTHEHNE@ 2 5HS ﬁfr@s)@_l cUENTWIM).

(d) What do you mean by an unbalanced
assignment problem?

FoHn Seeld QETETL  HGELDH SmTHS
GTEUTMITE) GTEITEDT?
(e) Define free float and total float.
F&5 OFema LHMID CrEs LoGmalamut cueFLIm).
() Mention any two uses of PERT.

PERTer gCsepd @ueavr(h 2 uGunsmiseamer
GINIGES



(g) Define a queue.
cuflenaenw euenyuwIm.

(h) Mention the customer’s behaviour with one
example.

umgGaswerisatien  BLSMS  LDO  6(H
2 grraus g6 &ML [Hs.

(i) State Baye’s theorem.
Cuullev Capméamns @GBS,

(G) Distinguish between pure and mixed
strategies.

seolddoeor  wHmb sl  GQEwddlLgdlen
@en_Cu Coumuhss smeurs.
SECTION B — (5 x 6 = 30 marks)

Answer any FIVE questions.
All questions carry equal marks.

Explain briefly the general methods for solving
OR models.

Qewerdll L ueller  wrdlflgener  SriiugHeTer
QuTgleUTeT (PEPDEEET &FH(HEHHLTE el flss.
Solve the following LPP by graphic method.
Minimize : z = 3x, +2x,
Subject to: dx, +x, =10

x,+x, 26

x, t4x, 212

xX,,%y 20
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auanrLILD (panm epeld SCLp sriiuilHerer CrrsGasm(H
Sl UL sarsdlanear STés.

GMDHSLLFOTSGS : 2 = 3x; +2x,

o L@ sL_Hur@ser : dx; +x, =210
x,+x, 26
x, t4x, 212

xX,,%5 20

Find the initial basic feasible solution for the
following transportation problem by least cost
method.

To Supply
From 1 2 1 4 30
3 3 2 1 50
4 2 5 9 20

Demand 20 40 30 10

Epsaam_ CUTEGISE sasSHE Gophs Cawaier
peperw UwaU®hSS rbu gl CFigsEs

Ereneud smeirs.

Qe <afliiy
s | 1 2 1 4 30
3 3 2 1 50
4 2 5 9 20
Csemeu 20 40 30 10
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5.

Draw a network for the relation given below :
Activity : A B C D E
Immediate predecessor:  — - ALB B B
Activity : F G H 1
Immediate predecessor: A, B F,.D FD C,G

EpQsTHSsLILLHdTar QgmLirysener Qamagr(H

CUENEWIENLOLIGH LI GUERFILIGLD.

Qawie : A B C D E
o | ang (el (msH 1 — - AB B B
Qewe : F G H I

> Lamg pemaii@ss : A, B F,.D FD CG

A car park contains 5 cars. The arrival of cars is
poisson at a mean rate of 10 per hour. The length
of time each car spends in the car park is
exponential distribution with mean of 5 hours.
How many cars are in the car park on an average?

R &1 BmsssHer 5 sniser o drerar. smisefler
umend umigner Ugeuelen grmemlums wewlsg 10
STIgGET  eumSlempar.  geldeumm  ETMHL  SFem
Blms$s550 MGG ureudde srmefluns waflseg 5
sriger  Cewalhdmg erafler By  HlHSs5H e

FTENUTE THHEET STTEHET TICLITGID STHH (HSHELD.

Solve the following game.
B

A (4 -4

4 4
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Qetreu(mLd efenarwiml g HaTer STellenar srams.
B

A (4 -4
—4 4
What are the main characteristics of game theory?
cllemerwiml_ (W& semT&lenn (PSS LIGRTLSENET Jo.m)is.

SECTION C — (2 x 20 = 40 marks)

Answer BOTH questions.
All questions carry equal marks.

(a) Use simplex method to solve the following
linear programming problem.

Maximize : z = bx; +3x,
Subject to : 3x; +5x, <15
5x, +2x, <10

X,,%y 20

Epsaranid CrMlwed Qeudur’ Hu 9ysfamenss
SbLIETEE (e ePEVLD ST6y STeTs.

SFsLLFOTEES © 2 = dx, +3X,

sU_Hrur@eser : 3%, +5x, <15
5x, +2x, <10

X,,%, 20
Or
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10.

(b)

()

Three are five jobs and five machines
processing costs are given in the following
table. Solve the assignment problem.
Mi M: Ms M: Ms
Ji 16 13 17 19 20
Je 14 12 13 16 17
Js 14 11 12 17 18
J. 5 5 8 8 11
Js 5 3 8 8 10
onbg GCeumaser LHMID g Celw Ceuerig
QUIBSTRIGET USDE WGD Cswe] Ydluemal
EC @i auamarruila Qarhssliul(Hererg). @)eu
RFIGEL () sOMENS S5,
M: M2 Ms M: Ms
Ji 16 13 17 19 20
Je 14 12 13 16 17
Js 14 11 12 17 18
J. 5 5 8 8 11
Js 5 3 8 8 10

Compute the earliest start, earliest finish,
latest start and latest finish of each activity
of the project given below.

Activity:  0-1 1-2 1-3 24

Duration: 2 8 10 6

Activity:  2-5 3-4 3-6 4-7

Duration: 3 3 7 5

Activity :  5-7 6-7

Duration: 2 8
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(b)

(PSETENID  PIDLID  WHMID  (PFHETEnLDd  (LPlg.LiL]
S Fwuehepud STEH6IFD <, FOLD HMID
sroErbgearn gy  Sweuparn  Speumid

Qrwedl L@ srems.
Ceweb : 0-1 1-2 1-3 24
ST SjeTa: 2 8 10 6
Qawe : 2-5 34 3-6 4-7
FTL eTa: 3 3 7 5
Qeweb : 5-7 6-7

ST jeTa: 2 8

@

(1)

®

(1)

Or

Discuss the elements of queueing
system and its advantages.

Solve the following 2 x 5 game
graphically.
Player B

Player A [2 -2 3 7 6]

6 5 1 4 0
aufleng enOLIG6 IDFBIGEETLD DSe
Lwerumigenend efleul.
emeumpd 2 X 5 ellenemuimiighamen
U UL LD §iT6y STeTs.

elepwerm_(h ey B

6 5 1 4 O

elewerwim’_ () afym A [2 -2 3 17 6}
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